






































































































































































































334



Note: This drawing is not to scale. Follow dimensions.

69 BR 1

 

PLATTE

A04503
Detailed June 2008

Checked  June 2008

PART ELEVATION SHOWING EXISTING CONDITION

Note:

Holes are for illustrative purposes.  Different configurations 

exist at different panel points.

Note:

Holes are for illustrative purposes.  Different configurations 

exist at different panel points.

PART ELEVATION SHOWING PROPOSED CONSTRUCTION

12"x 5/16 " Ì

 3/4 " Ó Bolt

(Reuse existing

holes) (Typ.)

Detail "A"

 3/4 " Ó Bolt

(Reuse existing

holes) (Typ.)

12"x 5/16 " Ì

DETAIL "A"

12"x 5/16 " Ì

OPTIONAL DETAIL "A"

 3/4 " Ó Bolt (Reuse

existing holes)

1
 1

/4
 "

 (
M

in
.)

¸  3/4 " Ó Bolt &

 13/16 " Ó Hole

(Field Drill)

Field connections shall be made with 3/4" diameter high

strength bolts and 13/16" diameter holes, except as noted.

Outline of old work is indicated by light dashed lines.  Heavy

lines indicate new work.

Notes:

Fabricated structural steel shall be ASTM A709 Grade 36.

Sheet No. 1 of 3  

Thicker plates, larger diameter bolts and higher grades of 

steel may be substituted.

DETAILS OF SPLICE TO REPAIR VERTICAL MEMBERS AT SPAN 7 (L4W & 

L8W), SPAN 8 (L2, L6W & L10W), SPAN 9 (L16’), SPAN 10 (L4’E,

L6’, L8’ & L2’) & SPAN 11 (L2E)

d:\pwise_local\Alderj1\dms50284\A04503_Repair_Details.dgn

R
E

V
.

12:19:56 PM 06/06/2008

STATE DISTRICT SHEET NO.ROUTE

JOB NO.

PROJECT NO.

COUNTY DATE

MO

CONTRACT ID.

I
F

 A
 S

E
A

L
 I

S
 P

R
E

S
E

N
T

 O
N

 T
H

I
S

 S
H

E
E

T
 I

T
 H

A
S

 B
E

E
N

 E
L

E
C

T
R

O
N

I
C

A
L

L
Y

 S
E

A
L

E
D

 A
N

D
 D

A
T

E
D

. 
 

"THIS MEDIA SHOULD

NOT BE CONSIDERED

A CERTIFIED

DOCUMENT."



Note: This drawing is not to scale. Follow dimensions.

69 BR 2

PLATTE

A04503
Detailed June 2008

Checked  June 2008

PART ELEVATION SHOWING EXISTING CONDITION

PART ELEVATION SHOWING PROPOSED CONSTRUCTION

12"x 5/16 " Ì

 3/4 " Ó Bolt

(Reuse existing

holes) (Typ.)

Detail "A"

DETAIL "A"

12"x 5/16 " Ì

 3/4 " Ó Bolt (Reuse

existing holes)

1
 1

/4
 "

 (
M

in
.)

Field connections shall be made with 3/4" diameter high

strength bolts and 13/16" diameter holes, except as noted.

Outline of old work is indicated by light dashed lines.  Heavy

lines indicate new work.

Notes:

Fabricated structural steel shall be ASTM A709 Grade 36.

DETAILS OF SPLICE TO REPAIR VERTICAL MEMBER AT SPAN 9 (L15)

 3/4 " Ó Bolt &  13/16 " Ó Hole

(Field Drill) (Typ.)

Sheet No. 2 of 3  

Thicker plates, larger diameter bolts and higher grades of 

steel may be substituted.

¸  3/4 " Ó Bolt &

 13/16 " Ó Hole

(Field Drill)

2 
1/

2 
"

(
M

i
n
.)

d:\pwise_local\Alderj1\dms50284\A04503_Repair_Details.dgn

R
E

V
.

12:20:01 PM 06/06/2008

STATE DISTRICT SHEET NO.ROUTE

JOB NO.

PROJECT NO.

COUNTY DATE

MO

CONTRACT ID.

I
F

 A
 S

E
A

L
 I

S
 P

R
E

S
E

N
T

 O
N

 T
H

I
S

 S
H

E
E

T
 I

T
 H

A
S

 B
E

E
N

 E
L

E
C

T
R

O
N

I
C

A
L

L
Y

 S
E

A
L

E
D

 A
N

D
 D

A
T

E
D

. 
 

"THIS MEDIA SHOULD

NOT BE CONSIDERED

A CERTIFIED

DOCUMENT."



Note: This drawing is not to scale. Follow dimensions.

69 BR 3

PLATTE

A04503
Detailed June 2008

Checked  June 2008

PART ELEVATION SHOWING EXISTING CONDITION

Note:

Holes are for illustrative purposes.  Different configurations 

exist at different panel points.

Note:

Holes are for illustrative purposes.  Different configurations 

exist at different panel points.

PART ELEVATION SHOWING PROPOSED CONSTRUCTION

15"x 7/16 " Ì

Detail "A"

Field connections shall be made with 3/4" diameter high

strength bolts and 13/16" diameter holes, except as noted.

Outline of old work is indicated by light dashed lines.  Heavy

lines indicate new work.

Notes:

Fabricated structural steel shall be ASTM A709 Grade 36.

DETAILS OF SPLICE TO REPAIR DIAGONAL MEMBER AT L2

¸  3/4 " Ó Bolt &

 13/16 " Ó Hole

(Field Drill) (Typ.)

DETAIL "A"

15"x 7/16 " Ì

¸  3/4 " Ó Bolt &

 13/16 " Ó Hole

(Field Drill)

1 1/4 "(M
in

.)

2 1/2 "(M
in

.)

(T
y
p
.)

(T
y
p
.)

Sheet No. 3 of 3  

Thicker plates, larger diameter bolts and higher grades of 

steel may be substituted.

d:\pwise_local\Alderj1\dms50284\A04503_Repair_Details.dgn

R
E

V
.

12:20:04 PM 06/06/2008

STATE DISTRICT SHEET NO.ROUTE

JOB NO.

PROJECT NO.

COUNTY DATE

MO

CONTRACT ID.

I
F

 A
 S

E
A

L
 I

S
 P

R
E

S
E

N
T

 O
N

 T
H

I
S

 S
H

E
E

T
 I

T
 H

A
S

 B
E

E
N

 E
L

E
C

T
R

O
N

I
C

A
L

L
Y

 S
E

A
L

E
D

 A
N

D
 D

A
T

E
D

. 
 

"THIS MEDIA SHOULD

NOT BE CONSIDERED

A CERTIFIED

DOCUMENT."


	Repair_Details_A0450.pdf
	A04503_Repair_Details_1_of_3.pdf
	A04503_Repair_Details_2_of_3
	A04503_Repair_Details_3_of_3


